

Open access • Journal Article • DOI:10.1017/S0305004100048581

## Tail sums of convergent series of independent random variables — Source link []

Andrew D. Barbour

Published on: 01 May 1974

**Topics:** Exchangeable random variables, Central limit theorem, Independent and identically distributed random variables , Pairwise independence and Sum of normally distributed random variables

#### Related papers:

- · Iterated Logarithm laws for weighted averages
- On Central Limit and Iterated Logarithm Supplements to the Martingale Convergence Theorem
- The speed of convergence of a martingale
- A Strong Invariance Theorem for the Strong Law of Large Numbers
- · Rate of convergence of series of random variables





Winterthurerstr. 190 CH-8057 Zurich http://www.zora.uzh.ch

Year: 1974

# Tail sums of convergent series of independent random variables

Barbour, A

Barbour, A (1974). Tail sums of convergent series of independent random variables. Mathematical Proceedings of the Cambridge Philosophical Society, 75:361-364. Postprint available at: http://www.zora.uzh.ch

Posted at the Zurich Open Repository and Archive, University of Zurich. http://www.zora.uzh.ch

Originally published at: Mathematical Proceedings of the Cambridge Philosophical Society 1974, 75:361-364.

### Tail sums of convergent series of independent random variables

BY ANDREW D. BARBOUR

Statistical Laboratory, 16 Mill Lane, Cambridge, Great Britain

(Received 8 August 1973)

Let  $X_1, X_2, ...$  be a sequence of independent random variables such that, for each  $n \ge 1$ ,  $EX_n = 0$  and  $EX_n^2 = \sigma_n^2 < \infty$ , and assume that  $\sum_{n=1}^{\infty} \sigma_n^2 < \infty$ : then  $\sum_{n=1}^{N} X_n$  converges almost surely as  $N \to \infty$ . Let  $S_n = \sum_{j=n}^{\infty} X_j$ ,  $s_n^2 = \operatorname{Var} S_n = \sum_{j=n}^{\infty} \sigma_j^2$ , and let  $F_n(x)$  denote the distribution function of  $X_n$ . Loynes(2) observed that the sequence  $\{S_n\}$  is a reversed martingale, and applied his central limit theorem to it: however, stronger results are obtainable, in precise duality with the classical theory of partial sums of independent random variables. These results describe the fluctuations of the sequence  $\{S_n\}$ , and hence the way in which  $\sum_{n=1}^{N} X_n$  converges to its limit.

For example, as in the Lindeberg-Feller theorem,

$$S_n/s_n \xrightarrow{D} N(0,1)$$
 and  $\sigma_n/s_n \to 0$  as  $n \to \infty$  (1)

if and only if, for each  $\epsilon > 0$ ,

$$s_n^{-2} \sum_{k=n}^{\infty} \int_{|x| \ge \epsilon_{s_n}} x^2 dF_k(x) \to 0 \quad \text{as} \quad n \to \infty:$$
<sup>(2)</sup>

similarly, as in Kolmogorov's law, setting  $\phi_n = [2 \log \log s_n^{-1}]^{\frac{1}{2}}$ ,

$$|X_n| = o(s_n/\phi_n)$$
 a.s. as  $n \to \infty$  (3)

implies that

$$\limsup_{n \to \infty} S_n / s_n \phi_n = 1 \quad \text{a.s.} \tag{4}$$

Counterparts of the Berry-Esseen theorems, and of the functional weak and strong laws, can also easily be derived.

All these theorems can be proved by suitably adapting the classical proofs. Alternatively, the weak laws can be deduced from the classical theorems for triangular arrays, by looking at the array with nth row  $X_n, X_{n+1}, \ldots, X_{k(n)}$ , where, because  $\sum_{j=1}^{\infty} \sigma_j^2 < \infty$ , the index k(n) can be chosen so that  $s_{k(n)}^2/s_n^2$  is small enough to make  $S_{k(n)+1}$  negligible. When  $\{X_n\}$  is a martingale difference sequence, this method is also applicable.

Neither of the above two means of proof really explains why there should exist a duality between the fluctuations of classical partial sums and the fluctuations of tails of convergent sums. Yet the fact that each classical theorem has its 'tail' counterpart strongly suggests that there is a reason for the duality, and, if so, a general method

#### ANDREW D. BARBOUR

might be found for deducing 'tail' theorems directly from their classical analogues. The rest of this paper is concerned with providing such a method.

The basic idea is to obtain *functional* weak and strong laws for  $\{X_n\}$  from the classical theorems, by finding suitable continuous mappings which transform random functions associated with classical partial sum processes into random functions associated with the tails of convergent series, and vice versa. The continuous mapping theorem can then be used to establish the desired duality. The method is analogous to a device used by Whitt(5) in another context, and so most details are omitted here. The approach uses stronger mathematical techniques than are needed to prove the results mentioned in (1)-(4), but the general method which emerges is rather powerful.

Let  $D[0,\infty)$  be the space of all right continuous functions with left limits on  $[0,\infty)$ , and let  $T_3$  be the subspace consisting of those functions x which satisfy

(A) 
$$\limsup_{t \to \infty} t^{-1} |x(t)| = 0,$$
  
(B) 
$$\int_{1}^{\infty} u^{-2} |x(u)| \, du < \infty,$$
  
(C) 
$$\int_{0}^{1} u^{-1} |x(u)| \, du < \infty.$$

Let  $m_3$  be the metric on  $T_3$  such that  $m_3(x, y)$  is the infimum of those  $\epsilon > 0$  for which there exists some continuous strictly increasing function  $\lambda: [0,\infty) \to [0,\infty)$ , with  $\lambda(0) = 0$ , such that

$$\begin{aligned} (A') & \sup_{t \ge 0} |x(t) - y(\lambda(t))| / (t \lor 1) < \epsilon, \\ (B') & \int_{1}^{\infty} u^{-2} |x(u) - y(\lambda(u))| \, du < \epsilon, \\ (C') & \int_{0}^{1} u^{-1} |x(u) - y(\lambda(u))| \, du < \epsilon, \\ (D) & \sup_{t \ne s} \left| \log \frac{\lambda(t) - \lambda(s)}{t - s} \right| < \epsilon. \end{aligned}$$

Let  $T_2(T_1)$  and  $m_2(m_1)$  be defined similarly, but omitting restrictions C, C'(C, C', B, B'). Let  $T_i^*$ , i = 1, 2, 3, denote the corresponding subspaces of  $D^*[0, \infty)$ , the space of all left continuous functions with right limits on  $[0, \infty)$ .

Consider the mappings  $g: T_3 \to T_2^*$  and:  $T_2^* \to T_1$  defined by

$$g(x)(0) = 0: \quad g(x)(s) = sx(s^{-1}) - \int_{s^{-1}}^{\infty} u^{-2}x(u) du, \quad 0 < s < \infty.$$

A straightforward calculation shows that both mappings are continuous, and that for  $x \in T_3$  with x(0) = 0, g(g(x)) = x. Thus, if a sequence of random functions  $\{Z_n\}$  converges weakly in  $(T_3, m_3)[(T_2^*, m_2)]$  to a random function Z, the sequence of random functions  $\{g(Z_n)\}$  converges weakly in  $(T_2^*, m_2)[(T_1, m_1)]$  to g(Z): similarly, if  $\{Z_n\}$  has compact closure almost surely in  $(T_3, m_3)[(T_2^*, m_2)]$  with set of limit points the compact set K, then  $\{g(Z_n)\}$  has compact closure almost surely in  $(T_2^*, m_2)[(T_1, m_1)]$  with set of limit points the compact functions g(K).

362

The relevance of this result in the present problem is that, for Z a random function in  $T_2^*(T_3)$ , g(Z)(s) is the stochastic integral

$$\int_{1/s}^{\infty} u^{-1} dZ(u)$$

defined by its integration by parts formula. Suppose that  $\{X_n\}$  is defined as in the initial paragraph, and that  $\sigma_n/s_n \to 0$  as  $n \to \infty$ : put  $Z_n(t) = s_{n+1}^{-1} f(n) S_{k(n,t)}$ ,  $t \ge 0$ , where f(n) is a normalization function, and where

$$k(n,t) = \max[r:r \text{ integral}, s_r^2 \ge t s_{n+1}^2].$$

Then

$$g(Z_n)(s) = s_{n+1} f(n) \sum_{j=1}^{k(n, s^{-1})-1} X_j / s_j^2,$$

and 
$$\sum_{j=1}^{k(n,s^{-1})-1} \operatorname{Var}(X_j/s_j^2) = \sum_{j=1}^{k(n,s^{-1})-1} \sigma_j^2/s_j^4 \sim s/s_{n+1}^2 \quad \text{as} \quad s \to \infty.$$

Hence  $g(Z_n)$  is a random function derived from the partial sums of the sequence of independent random variables  $Y_j = X_j/s_j^2$ , and  $\sum_{j=1}^{\infty} \operatorname{Var} Y_j = \infty$ , so that the classical theorems may be applied to it.

For instance, taking f(n) = 1,  $g(Z_n) \Rightarrow W$ , the standard Wiener process, in  $(T_3, m_3)$ , if and only if the random variables  $Y_j$  satisfy Lindeberg's condition: the extra conditions required for convergence in  $T_3$  rather than in D[0, 1] are readily verified using arguments similar to those in Muller(3), p. 177. This can be used to deduce corresponding results for  $Z_n = g(g(Z_n))$ , and it can be shown, by choosing a specially simple set of  $Y_j$ , that g(W) is also a standard Wiener process.

The Lindeberg condition for  $\{Y_n\}$  does not at first sight appear to be the same as condition (2) for  $\{X_n\}$ , yet they are in fact equivalent. The two conditions can be expressed as

$$(L): g_n^*(\epsilon) = s_{n+1}^2 \sum_{j=1}^n \int_{|z| \ge \epsilon s_j^*/s_{n+1}} s_j^{-4} z^2 dF_j(z) \to 0 \quad \text{as} \quad n \to \infty,$$

for each fixed  $\epsilon > 0$ , and

$$(T): g_n(\epsilon) = s_{n+1}^{-2} \sum_{j=n+1}^{\infty} \int_{|z| \ge \epsilon s_{n+1}} z^2 dF_j(z) \to 0 \quad \text{as} \quad n \to \infty,$$

for each fixed  $\epsilon > 0$ . Define, for s > t > 0,

$$g_{n}^{*}(\epsilon, s, t) = s_{n+1}^{2} \sum_{\substack{j=k(n,s)+1 \\ j=k(n,s)+1}}^{k(n,t)} \int_{|z| \ge \epsilon s_{j}^{*}/s_{n+1}} s_{j}^{-4} z^{2} dF_{j}(z),$$
  
$$g_{n}(\epsilon, s, t) = s_{n+1}^{-2} \sum_{\substack{j=k(n,s)+1 \\ j=k(n,s)+1}}^{k(n,t)} \int_{|z| \ge \epsilon s_{n+1}} z^{2} dF_{j}(z):$$

then, since  $k(n,s) + 1 \leq j \leq k(n,t)$  implies  $t \leq s_j^2 s_{n+1}^{-2} < s$ ,

$$\begin{split} g_n(\epsilon,s,t) &\geq t^2 g_n^*(\epsilon/t,s,t) \geq t^2 s^{-2} g_n(\epsilon s/t,s,t), \\ (L') \colon g_n^*(\epsilon,s,t) \to 0 \quad \text{as} \quad n \to \infty \end{split}$$

so that

for each fixed  $\epsilon > 0$  and s > t > 0 is equivalent to

$$(T'): g_n(\epsilon, s, t) \to 0 \quad \text{as} \quad n \to \infty$$

for each fixed  $\epsilon > 0$  and s > t > 0. But

$$g_n(\epsilon, s, t) = s_{n+1}^{-2} [s_{k(n,s)+1}^2 g_{k(n,s)}(\epsilon s_{n+1}/s_{k(n,s)+1}) - s_{k(n,t)+1}^2 g_{k(n,t)}(\epsilon s_{n+1}/s_{k(n,t)+1})],$$

and, for any u > 0,  $k(n, u) \to \infty$  and  $s_{k(n, u)+1}^2/s_{n+1}^2 \to u$  as  $n \to \infty$ : hence (T) implies (T'). On the other hand, if (T') holds, fix  $\epsilon > 0$  and s = 1, so that k(n, s) = n + 1: then  $g_n(\epsilon, 1, t) \to 0$  as  $n \to \infty$  for all 0 < t < 1, so that, by Chung(1), §7.2, Lemma 1, there exists a sequence  $t^{(n)} \to 0$  such that  $g_n(\epsilon, 1, t^{(n)}) \to 0$  as  $n \to \infty$ . Hence

$$g_n(\epsilon) \leq g_n(\epsilon, 1, t^{(n)}) + t^{(n)} \to 0 \quad \text{as} \quad n \to \infty,$$

and so (T') implies (T). Thus (T') is equivalent to (T). A similar argument shows that (L') is equivalent to (L), and so the equivalence of (L) and (T) is proved.

If, now, f(n) is taken to be  $[2 \log \log s_n^{-1}]^{-\frac{1}{2}}$ , invariance principles for the law of the iterated logarithm can be deduced for  $\{X_n\}$  from those for  $\{Y_n\}$ . In this case, it is easy to prove directly that, if K is the set of all absolutely continuous real functions x on

 $[0,\infty)$  for which  $\int_0^\infty [\dot{x}(t)]^2 dt \leq 1$ , cf. Strassen(4), then g(K) = K.

Because the basic mapping theorem makes little restriction on  $\{Z_n\}$  and Z, it can be used in much more general contexts than that chosen here.

#### REFERENCES

- (1) CHUNG, K. L. A Course in probability theory (Harcourt, Brace and World; New York, 1968).
- (2) LOYNES, R. M. An invariance principle for reversed martingales. Proc. Amer. Math. Soc. 25 (1970), 56-64.
- (3) MULLER, D. W. Verteilungs-Invarianzprinzipien fur das starke Gesetz der großen Zahl. Z. Wahrscheinlichkeitstheorie und Verw. Gebiete 10 (1968), 173-192.
- (4) STRASSEN, V. An invariance principle for the law of the iterated logarithm. Z. Wahrscheinlichkeitstheorie und Verw. Gebiete 3 (1964), 211-226.
- (5) WHITT, W. Stochastic Abelian and Tauberian theorems. Z. Wahrscheinlichkeitstheorie und Verw. Gebiete 22 (1972), 251-267.

364